PIRANHA OFFROAD PRODUCTS

BTSGV04

‘Piranha Off Road products are not associated in any way with SUZUKI Australia Pty Ltd or any of its related companies’

To Suit SUZUKI GRAND VITARA

!PARTS INCLUDED WITH TRAY

1 XTray

6 X M6 Nuts

3 X M6 Bolts Hex

1 X M6 Bolt Countersunk
1 X M6 Bolt Long

2 X M6 Weld Bolts

1 X M6 Washer

1 X Backing Plate

2 X J Bolts

1 X Special Top Mount
1 X 600mm Hose

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX

V6 PETROL
NOTUHBLE
& FORSELFAT

FITTING INSTRUCTIONS
The cradle fits passenger side front.

1. Remove overflow bottle and drill out four spot welds in guard.

2. Remove bracket

3. Place in battery tray - counter sunk in tray aligns with captive in inner guard

4. Rear bottom brace aligns to captive in guard. A long M6 must be threaded
through from under guard then brace is bolted to this with M6 nut

5. Front brace on inner guard needs to be marked & drilled (Tray may need to
come out once marked)

6. Place tray back in - bolt'in rear bolts as described in points 3 & 4, then use M6
hex, nut & washer to bolt in front brace (engine side)

7. Two M6 hex bolt down last support using two M6 nuts & backing plate

8. Cut overflow bottle bracket then bolt to side of tray using two weld bolts & M6
nuts

9.Place battery in tray, squeeze top mount between guard & inner guard. Drill hole
& bolt

10. Replace overflow bottle hose with longer hose

Nov 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BTSGV04



